USER MANUAL

dalru.

1365-1 Iwazo, Utsunomiya,
Tochigi 321-0973, Japan

T +81-28-662-6934

E info@aru-japan.com

KT01PH434 / KT01PH600

IV RIVBMSTSE - RO7mE{AIEE
Installation guide for pull handles - Back to back pair

Outside

R7E
door thickness 10-60mm

Inside

| —
| —
| —
-

IV UN
cut-out hole @ 6mm

EftREE
collar: 2

ARG
screw M5x40-90: 2

R—O-RC
grab screw M4x10: 4

www.aru-japan.com




dalru.

1365-1 Iwazo, Utsunomiya,
Tochigi 321-0973, Japan

T +81-28-662-6934

E info@aru-japan.com

USER MANUAL

KT01PP105/ KTO1PP135

TILTL— bBUSHAE - RPEAIEE
Installation guide for pull plates - Back to back pair

Outside Inside

IV
cut-out hole @ 6mm

AR
collar: 2

A 92V elv)
screw M5x40-90: 2

R—O-R0C
grab screw M4x10: 4

R7E
door thickness 10-60mm

www.aru-japan.com




dalru.

1365-1 Iwazo, Utsunomiya,
Tochigi 321-0973, Japan

T +81-28-662-6934

E info@aru-japan.com

USER MANUAL

KT01PH434 / KT01PH600

TIVI\> RIVBMSFE - RZERIOHERIER
Installation guide for pull handles - Single bolt through

Outside Inside

i
rm/frlfrfrz/ffffflmwﬂ

IPIVN
cut-out hole @ 6mm

m/hval
flat-head screw M5x40-80: 2

R7E
door thickness 20-60mm

www.aru-japan.com




dalru.

1365-1 Iwazo, Utsunomiya,
Tochigi 321-0973, Japan

T +81-28-662-6934

E info@aru-japan.com

USER MANUAL

KT01PP105/ KTO1PP135

TILTL— bBUSAE - R RIOHERIEBD
Installation guide for pull plates - Single bolt through

Outside Inside
IV N
cut-out hole @ 6mm
mhvat
flat-head screw M5x40-80: 2
0
W/{/{{({(((W
M
R7E
door thickness 20-60mm

www.aru-japan.com




dalru.

1365-1 Iwazo, Utsunomiya,
Tochigi 321-0973, Japan

T +81-28-662-6934

E info@aru-japan.com

USER MANUAL

KT01PH434 / KT01PH600

FIDEUIHE - RAIBD
Installation guide for pull handles - Single face fix

Inside

(Cf@
""'lﬂ’((ffffffll////
///’///f//////////,',;

4

TIRIR
cut-out hole ¢ 3mm

HS RS

collar: 2

FyE>IRL
wood screw M5x45: 2

R—O-nU
grab screw M4x10: 4

Yo )

B .- R7E &
wall & door thickness

www.aru-japan.com




USER MANUAL

dalru.

1365-1 Iwazo, Utsunomiya,
Tochigi 321-0973, Japan

T +81-28-662-6934

E info@aru-japan.com

KT01PH434 / KT0O1PH600/ KTO1PP105 / KT0O1PP135

J\> RIVEMS735% - RO7mflEEs
Installation guide - Back to back pair

WD MHIEZRD. pemmDEBNRZ K77 (22T Fhd D,

ARSI > RNR U Z BT EEE (D@ UAMA \> RILZE R (ICEE S B,
B EEE (AR > RILZERD TS,
R—O-RUCZREL>F2.0THESDD.

A ON =

. After you have decided where to fix the handles, drill two ®6mm holes.

. Assemble the indoor handle with the collars.
. Using a hex key 2.0, fix the grub screws into the handle.

A OON =

KT01PH434 / KT01PH600 / KTO1PP105 / KT01PP135

I\ RILEUMS S - R7RRIDHERIEE
Installation guide - Single bolt through

1. D MHFAIEZ RS, pomMmDEBERNZ R 77 (L2 D.
2. MMRUT/\> RILZEETY .
) - RUBEZEAETRI & ADELVWVHRLEADERDEY.
- FEEHIROA/N—F v ITZEDET,
- ASRPERE RV DS EHROIEHEEE + BIfERZHENIZE 0,

1. After you have decided where to fix the handle, drill two ®6mm holes.
2. Fix the door handle to the door with the screws.
% For a better finish, hide the screws heads with the tiny wooden caps.

KT01PH434 / KT01PH600

FIOEMNTTE - ZAED
Installation guide - Single face fix

1. D MHFAIEZARSD. @3mmDTRZE2TFid TS,

2. 9y ETRU TEIEEZEE - iE(CEET S

3. BUSEEE(C/\> RILZER D15 D.

4. R—O—RUZEARAEL>F2.0THi®OD.

) - BER— REORTHCERDDEEZMA TIES0N.

1. After you have decided where to fix the handle, drill two ®3mm holes.

2. Fix the collars with the wood screw.

3. Install the handle on the collars.

4. Using a hex key 2.0, fix the grub screws into the handle.

% Please make sure have sufficiently strong wall base under plaster board.

. Fix the outdoor handle with the collars by the screws from the indoor side.

www.aru-japan.com




	取扱説明書EN-JA_aru_PH1-最新
	取扱説明書EN-JA_aru_PP1-最新
	取扱説明書EN-JA_aru_PH2-最新
	取扱説明書EN-JA_aru_PP2-最新
	取扱説明書EN-JA_aru_PH3-最新
	取扱説明書EN-JA_aru_In

